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20198 = 20l A LBHS H EAFAIE A
SH: BEALL
HM: HIISA(BEES/HIIS)
Ee: MYDIIHEE 29 (2 &HH)
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SHEALS & 11,040,921 11,592,130 A 551,209
= 177,000
= 46,000
Al 10,817,921
HIOIS222 (ZES/HIIS) 907,310 762,073 145,237
MYDIHE S 2 831,010 716,273 114,737
grol M D]l PAMOHE 250,610 239,268 11,342
201 2et2 Y| 241,545 230,203 11,342
01 AP 22| d| 8,200 3,200 5,000
OIINEZ2M M2 5,000,000& = 1A 5,000
OHE2X PAUA(EHEAEX) 5,0008 * 2002 1,000
ODHEIXF XFO‘{X}, DI. 3 é}-?:’}' % O':,
20,000 = 5% x 12&€ 1,200
OHJIZ Bt MDA X M S
500,000 = 23| 1,000
02 B32ZH| 233,345 227,003 6,342
Oset=HIIS HE &3dl 2,000,000& = 1A 2,000
OXHIYAXNB(EUMERZA 22])
5,000,000& = 23] 10,000
OMEg & =2 Bdl ¥ =SHH S
5,000,000& = 1A 5,000
Olg s 2422 A=l
1,340& = 24 = 10Al2F = 120 = 104 3,216
OARSKXH(HEH ¥2 2, 22154 0l5t)
1,897& = 1,294m’ 2,455
Og & CCTV KA 24| 500,000 = 24! 1,000
OHE & AR 4 ZAt8ES 5,000,000& = 14 5,000
QM Z HII(P0E) KX 24|
2,000,000& = 1A 2,000
ONg & etAXE =02 JtH et 2l
1,000,000& * 14! 1,000
OE & JIHAIE X 244
3,000,000 = 1A 3,000
OEg & AMNE2 KA 24|
2,000,000& = 1A 2,000
O24)| HHISXH (FE02109157, 0.8m) 17,060
—S30 1,340 * 154 = 2A12F = 300 12,060
— =2/ 4| 1,000,000& * 53| 5,000
OgZe= XY KSAHI(ZE206LE9215, 15E) 7,355
—SsU 1,340& * 134 = 1AI2F ~ 250 4,355
— =2y 500,000 = 63| 3,000
OS2 &HIKSXH (ZS09119009, 29&€) 29,400
- S50 1,340 = 2AI2F = 20¢ = 250 13,400
— =2/ 4l 1,500,000& * 43| 6,000
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H: HIIS2e(HEES/HIIE)
S MYIIHEE 23 (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
— X e 5,000,000& = 23l 10,000
OAL8328 |AHI(8323307, 1€) 5,890
- S50 1,340 = 74 = 2A12 = 250 4,690
— ==clHl 300,000& = 43| 1,200
Oog HAA=sI| | 22 8,762
- 25U
1,540 » 244 = 3AI2F = 1038 » 7& 7,762
— ==cltl 500,000& = 23l 1,000
OMYDIMIHEE 22 WA RF
1,540 » 24 * 8AlZt » 72 « 104 1,775
OMBE HJ| otEB2l He 242
450,000& = 123 5,400
O & &= 121,032
-Jl2es 8,320 * 300kw » 12& 29,952
—ANER3 110& = 2,300kw » 30 = 128 91,080
206 M= Hl 9,065 9,065 0
01 M= 4l 9,065 9,065 0
ogdes #¢ 5,635
—=2588 35,0003 = 15kg » 7& 3,675
— Y= 35,0003 = 8kg » 7€ 1,960
OWeE SHMUH S 7Y
L5002 » 1408 *» 78 3,430
FEHeld 24 38,373 38,239 134
201 L4l 35,573 35,439 134
02 =224l 35,573 35,439 134
Ox=ZIAM===2 (KXot B &, HMAIE)
20,000,000& * 14l 20,000
OFB2HT HYUZ(5Y)
1,3402 » 24 = 8AI2F = 120 » 10H 2,573
OFzs+HMeld BEF nH=cl
2,000,000& * 24l 4,000
OFE=Held HIAE =2l
3,000,000& =« 14l 3,000
OFE+HclE EE22 =l
3,000,000& = 14l 3,000
OFESHRT AZUER DAL
300,000& » 1004 2 3,000
206 M= Hl 2,800 2,800 0
01 M= 4l 2,800 2,800 0
OFELHRZT +H2lE 2B
5,000& * 60K 300
OF&HMel¥ JIHANE X228 F5 2L
200,000& = 58 = 13l 1,000
OFEHMelE HIANE RX2e8E F5 7L
100,000& = 108 * 18 1,000
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7 7 100,000& * 58 13l 500
Has 483 2el 542,027 438,766 103,261
101 @14 Hl 314,877 239,636 75,241
04 JIZHHZ2XNHEE S 314,877 239,636 75,241
OXgoIHEES HdEXHY URY 314,877
—Jl=s 66,8003 * 14H  246¢ 230,060
-5 66,8003 * 149 » 50 46,760
-2 66,800 * 14% = 12¢ 11,223
- Y222y
66,8002 * 150% * 14Z = 12¢ 16,834
—XZH s 10,000,000& * 14 10,000
201 LBH2E| 63,150 62,130 1,020
01 At 22l 18,760 18,160 600
O AR SADAT, &2 S 7
20,000& = 149¥ « 123 3,360
Odg&AN HH= 100,000 » 14%H * 23] 2,800
OdgE AT ot 3t 50,0003 = 14H =« 23| 1,400
OHEXRAX =S (H=SH)
100,000& = 14H =« 43| 5,600
OHER OHEB2ADS (8 +42
300,000& = 123 3,600
O2HIE MEEx=E 1,000,000 = 23l 2,000
02 2324l 44,390 43,970 420
OMgES g tER ¢
1,340& = 2504 =« 4# 1,340
OEgd KXYl 350,000& = 14 350
OHAEZS Z2&J |RANE=
3,000,000& = 1CH 3,000
OMesEs g JIH&E |X2el
20,000,000& = 14 20,000
OMgEE d8F MI|LH |RX2eal
10,000,000& * 14 10,000
OAJI20H ZHIK XA 8,200
- 55 1,3402 » 102 » 2AI2t » 250 6,700
— S zteldl 500,000& = 33l 1,500
OXIAX &HI= Xl 500,000& * 33 1,500
206 = Hl 8,000 7,000 1,000
01 MHZ 4l 8,000 7,000 1,000
OMEBELHEE RAEFE WY
500,000& * 43 2,000
ONMEEE 252 224 7Y
,500,000& * 23| 5,000
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OdEl Z298 (25 458)5 7¢
1,000,000 * 14 1,000
307 gl2tol & 156,000 130,000 26,000
05 RIZERI & 3 156,000 130,000 26,000
OHIMIF(HSM)E ML ==
130,000& * 1,200& 156,000
FaXcE 24 76,300 45,800 30,500
=M Xl 76,300 45,800 30,500
201 Let24d] 68,800 38,800 30,000
01 At 2teltl 7,800 7,800 0
OSYgI22X I=H(RYEE,¢Es B2 S5
E) 100,000& » 8% * 5& = 13l 4,000
o743 7Y 3,800
— A4 60,000& * 10& 600
—UH=Es 100,000& = 8Y = 43| 3,200
02 =224l 61,000 31,000 30,000
OZEMRX &4 5,000,000 = 14l 5,000
OJlset@ac 84 20,000,000& =« 14 20,000
ObaXMel& JIAHLH |RANE=>
30,000,000& * 14 30,000
OBuHelY 2LEHD RX24
1,000,000& * 38 3,000
Of=HMel&d HIANE RANE=
1,000,000& =+ 3& 3,000
206 M= Hl 7,500 7,000 500
01 =8l 7,500 7,000 500
O2=fdH™el JIHANE RX2e8 5 2L
200,000& = 5& = 13l 1,000
O2=fdXMel dIIANE RX2e8 B3 728
100,000& = 108 = 13l 1,000
OzLeIMYeAlE X228 28 37 2L
100,000& = 58 13l 500
Ozfd™elAld HESIID ¢
250,000& * 48 = 13l 1,000
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2,000& = 2,000£ = 13l 4,000
ot & (BBES/MotxE - &) 932,857 1,368,000 A 435,143
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506,000& * 500m * 90.76/100 229,623
= 177,000
S 16,000
Al 36,623
02 Zeltl 21,544 31,354 A 9,810
OWE sHELOS dt=% X3 A
252,857,000 * 8.52/100 21,544
03 Al R THHI 1,690 2,649 A 959
OWE sHENS ot EXSA
1,690,000 * 14 1,690
HEOISot=E A& 480,000 1,000,000 A 520,000
401 Al I 28I 480,000 1,000,000 A 520,000
01 A& HI 476,544 911,200 A 434,656
O20IX+ A2 0tSct=HMel&d A&
480,000,000& = 14l * 99.28/100 476,544
03 AIE 2 THHI 3,456 3,600 A 144
O20IX+ A2 0tSct=HMelZ A&
480,000,000 * 14l = 0.72/100 3,456
(Z)otx= A&t 200,000 0 200,000
= 30,000
Al 170,000
401 AIEHIZ 28I 200,000 0 200,000
< 30,000
Al 170,000
01 A& Bl 200,000 0 200,000
O20IX=+ A2 OtSct==Xel&d A&
200,000,000& * 14 200,000
< 30,000
Al 170,000
HE2A U (BB ALE A)(JIEH/IIE) 206,254 211,407 25,153
el 2 168,532 153,685 14,847
ol 2| 168,532 153,685 14,847
101 124l 168,532 153,685 14,847
01 2= 91,305 89,003 2,302
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FM: HE2IZH (BZASE 2)(IIEH/IIE
chel: ol gyl CEEEED
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SESE=PY=] 91,305
— B AAADR Y
10,299 = 8H = 36AI2t = 128 35,594
- MEADIYMINEE X ERAMHRIAL 2
2 55,711
N2 2242 (0F2i2 20 e =02
2) 10,299 = 1% = 7Al2t * 365¢ 26,314
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3,433 * 1H » BAIZH » 365 10,025
S22R+E 82,7863 * 2¥ » 117 19,372
03 RIHAZ 2N E =+ 77,227 64,682 12,545
ONess NsHEY 22d 77,227
-Jl=a 1,484,790%0 * 2% * 128 35,635
— M012  1,484,790% « 50% * 2Y * 43 5,940
— A2t9l &g
10,3723 = 150% = 2% = 15AI2t = 128 5,601
—gYuaRLy
82,9763 * 150% * 2H » 12¢ 2,988
— dMH&H 58,270,000& * 16.4% 9,557
— FE(UHRA) =< 40,0002 * 2% * 12€ 960
—IE(RYHE) 49
20,0003 = 6H » 12& 1,440
— s = 82,9763 * 2% x 22¢ 3,651
— %8 =¥ 20,0003 = 29 « 128 480
- =g 30,0003 * 29 » 12& 720
— S E =t
1,484,790% * 298  75% » 23] 4,455
— = A 100,000& = 2H =123 2,400
— WSl 100,000& » 29 « 12& 2,400
—H=EZ(H=H) 100,000& = 2H =« 43| 800
— o=l 100,000& = 29 « 13/ 200
P[RR 37,722 57,722 20,000
JlE23l 37,722 57,722 A 20,000
201 LB-2E | 7,162 7,162 0
01 At 2t 2l 7,162 7,162 0
O=AERXN 7¢ 15,0003 * 8<A + 128 1,440
OEZ20AdI 7,000& * 8H * 64l » 123 4,032
OAL7a2 =&t 1,210
—PC =¢cl 100,000& = 8CH » 20/100 160
— ZEH =2l 100,000& * 1CH » 50/100 50
—Z2H EY 200,000& = 104 = 53l 1,000
OJIEH AR 22|l 5,000& = 8H » 128 480
202 o4dl 30,240 30,240 0




2N
X ZH -
L= B

el

0% rior

ro ox oY
0¥ HO =

[mn

02 [?
oY B~

Bl (

rig

AL A)(DIEHDIE

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 30,240 30,240 0
O =L Hi 30,240
— 2t o4 dl 20,000& = 8H » 12& * 123 23,040
— 220 Hl 90,000& = 8% = 10 7,200
203 YR =&l 320 320 0
02 et =& 320 320 0
OISR F= &I 40,000& » 89H 320
HRas(s2AgL)(B2ES/4oteE - =2) 8,994,500 9,250,650 A 256,150
HEHHK S 8,994,500 9,250,650 A 256,150
HEHH X = 8,994,500 9,250,650 A 256,150
701 JIEtSI HEHES 8,994,500 9,250,650 A 256,150
02 BILELIHNZINEES 4,203,000 3,703,000 500,000
O3 dot+==MABSEH HES 4,203,000
—ot=2tHEH 2UHE QURAIY 2d2 1,559,000
'094E At 930,000,000& * 14 930,000
108 AFY 629,000,000 * 14 629,000
—ot=2t 1 FHl 2 UHE QUXALY EOHhI 24,000
- 098 AR, 109 ALY
3,000,000 * 43| » 24 24,000
—ot=2tHEH 2UHE URAY HIIZ, &
AlHl, =ZZA==2, EHE X2l S 120,000
‘09 AbY, 104 AL
60,000,000& = 24 120,000
—ot=HMalE 23
5,000,000,000& * 50/100 2,500,000
03 BIILELEIIAHMNBNES 4,791,500 5,547,650 AT56,150
OBJIot=SAILELESA N=dES 1,775,000
~5IYE BEEFY 2422 FUIDA
500,000& * 500m 250,000
—otYdEs S 222 FHISA
500,000& = 200m 100,000
— 828 ot SFZLHIA
450,000& * 1000 2 45,000
—GFAM2UH =2ot=E SZMM ¥ A
& SAHFH 500,000& * 2000H & 100,000
—Got=HMclE 2SS 600,000,000& * 14 600,000
—EMIs ANES ANEES
200,000,000& * 14| 200,000
—3xEEX 8= =) &1
20,000,000 = 2CH 40,000
—CEgAges g8 2l2E &1
20,000,000 = 2CH 40,000
—EAMAs EFHAE ML
200,000,000& * 14! 200,000
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Odt=EZ0t 2T HIEXZAIEUH OE AlHIRE
= 3,016,500
—YFA CEGEB2FY
2,830,000,000& * 35/100 990,500
—ot=2tHEH 2UHE LAY U= 2,026,000
- 098 AbY 1,393,000,000& * 14! 1,393,000
- 0E ALY 633,000,000& * 14 633,000




